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QUESTION 1

What is the expected outcome of the first Sprint on a project? 

A. A few working, tested features from the Product Backlog 

B. Architecture and high-level design of the Product 

C. Assignment of the team, Product Owner and Scrum Master 

D. A well-defined release plan for the Product 

Correct Answer: A 

 

QUESTION 2

A team selects a Product Backlog Item (PBI) for the Sprint Backlog. What must a team do to finish the Product Backlog
Item it selects? 

A. As much as can be done in the Sprint before the deadline. 

B. As much as is required to satisfy the definition of \\'done\\'. 

C. Analyze, design, program, test and document the PBI. 

Correct Answer: B 

 

QUESTION 3

Why are estimates expressed in terms of story points difficult to explain outside of the team? 

A. It requires a comparison to a benchmark, which typically varies from team to team. 

B. It requires a deeper understanding of the technical approach to implement each story. 

C. It requires breaking the stories down into Sprint Backlog Items, which only the team can do. 

Correct Answer: A 

 

QUESTION 4

Agile planning happens at multiple levels including a daily plan, an sprint plan and a strategic plan. What term best
describes the multi-level planning? 

A. Planning Onion 

B. Planning Poker 

C. Sprint Planning 
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Correct Answer: A 

 

QUESTION 5

A Project Manager wants to track not just the rate of progress against tasks, but also the overall morale and happiness
of the Scrum team. 

What device will help track morale and happiness? 

A. A Gross Happiness index 

B. A Niko-niko calendar 

C. An employee satisfaction survey 

Correct Answer: B 

 

QUESTION 6

An engineering organization is transforming their project management method to use Agile Scrum. What is the best
approach to the transformation? 

A. Get a senior executive to champion the transformation. 

B. Get the team managers to monitor their team\\'s progress on a daily basis. 

C. Make a swift transition and start using Scrum for all projects. 

Correct Answer: A 

 

QUESTION 7

For a Sprint, progress is monitored in a burn-up chart with bars. What makes the bar become longer? 

A. The progression of time. 

B. Work is added to the Sprint Backlog. 

C. Work is deleted from the Sprint Backlog. 

Correct Answer: C 

 

QUESTION 8

What is an "escaped defect"? 

A. A defect that was found by the customer. 

B. A defect that was planned to be fixed, but not fixed in a Sprint. 
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C. A defect the Continuous Integration System failed to catch. 

Correct Answer: A 

 

QUESTION 9

A team estimates a Story using the Planning Poker technique. The team decides to allocate five Story points to the
Story, because the Developers estimated two points and the Testers estimated three points. 

Which statement is true regarding this scenario? 

A. Points are assigned by the Scrum Master, not by the team. 

B. Points are assigned for the overall Story, not for parts of the Story. 

C. Points are never estimated, but always determined beforehand. 

D. The team forgets to ask the Product Owner about the estimate. 

Correct Answer: B 

 

QUESTION 10

A user story was estimated at five ideal hours. On a normal eight hour working day, the team gets about four hours of
actual work time. 

What would be the elapsed time required to complete the Story? 

A. One day and two hours 

B. Two days 

C. Five hours 

Correct Answer: A 
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